DeRrRO

A P|AYCORE company

Cycle Station™ 2

The Dero Cycle Station 2 provides scalable, high-capacity, secure bike
parking for bicycle commuters. With a high roof and open platform, the
Dero Cycle Station 2 allows bike corrals, vertical, or two-tiered bike
racks configured to meet your specific needs.

©2022



Cycle Station™ 2

FITLIER
ITTLLLE

DeRrRO

APLAYCORE comany

ROOFING
Roof panels are available in a
) variety of colors.
The Cycle Station 2 can be Y
sized to meet your capacity
needs. Starting with a width of ;
8 x 12’ 12,16 or 20, you can add on }
Minimum as many 4’ lengths as needed.
Footprint
\ \ \ \ \ \ \ \
g +4’ Sections
FINISH OPTIONS
. - Hawaiian Blue Ash Gray
Galvanized Powder Coat -Cr_mson . oo Tan
I
-
White ' Black ' Deep Red Yellow - Fern Green - Desert Sand
RAL 3003 RAL 1023
- Burnished Slate - Koko Brown
CNH Bright . Orange Beige ‘ Hunter Green - Cobalt Blue - Rustic Red
Yellow RAL 2004 RAL 1001 RAL 6005 - A
Charcoal Gray Polar White
Light Green Green Sky Blue Blue Light Stone Solar White
Roof trusses are RAL 6018 RAL 6016 RAL 5015 RAL 5005
galvanized only.
Uprlglhts animeSh . Dark Purple . Flat Black ‘ Xf??o?gd ‘ 'F[Z&g:ay DOORS
panels may have a
powder coat color or . . Door(s) may be placed
H o i lver i .
galvanized finish. ;L%h;042ray RAL 9007 ‘ stpé?)w?rown . Bronze between any uprights
for greatest flexibility in
layout. A standard door
includes an electronic
LIGHTING strike, exterior keyed

Solar powered lights for the exterior of the
shelter are available as an add-on item.
Contact us for more details.

©2022

handle, interior pushbar,
and door closer. Access
system not included. A
variety of door handles,
locks, and closers are
available per spec.



DeRO

APLAYCORE comvany

Cycle Station™ 2

Submittal Sheet

See diagrams below and to the left for examples

Uprights: 4” x 3/16” square tube.

Base Plates: 1/2” plate

Roof Truss: 4”x 3” x 1/4” square tube

Roof Purlins: 3” x 1/8” square tube

Roof Panels: 244 steel ribbed panel

Panels: 2” x 1/4” steel wire mesh with 3” steel framing

[]

Galvanized
An after fabrication hot dipped galvanized finish is our
standard option. Trusses and purlins are only available
galvanized.

Powder Coat

Doors are only available with a powder coat finish. Uprights
and side panel are available with a powder coat finish
option. Trusses and purlins come only in galvanized.
Available roof colors differ from standard Dero colors.

Our powder coat finish assures a high level of adhesion and
durability by following these steps:

1. Sandblast

2. Epoxy primer electrostatically applied

3. Final thick TGIC polyester powder coat

Surface Only

It is the responsibility of the installer to ensure that all base
materials into which the shelter will be installed can support
the rack and will not be damaged by any required installation
procedures. See structural drawings for details.

Consult local building codes for acceptable setbacks and
placement.

Dead Load: 2.5psf, self weight of structure

Live Load: 40 psf

Wind Load: 96 mph, exposure B, risk category |l
Seismic Risk: Category |l

Footing: see separate page

Anchors: 5/8"@ x 4-1/2” embed Simpson Strong-Bolt 2
wedge anchors

CAPACITY
MATERIALS
12’
\ il
— AL FINISHES
8 plus any e
multiple of 4’
Sample capacities for 3 Unit Configurations

12'x24’ Shelter

Dero Deckers

28 Bikes

16'x24’ Shelter

Ultra Space Saver Squared MOUNT

and Dero Deckers OPTIONS

44 Bikes
SETBACKS

20'x24’ Shelter

Hoop Racks and

Dero Deckers LOAD DATA

44 Bikes

20'x24’ Shelter LIGHTING

Dero Deckers
56 Bikes

24

Dero shelters can be used in a modular fashion
(shared uprights) however, when used in this
manner, please consult a Dero Bike Rack sales
associate for layout, as the rack spacing and
bike capacity can change!

©2022

[]

Solar powered lights for the shelter exterior are available for
an additional charge




DeRO | Cycle Station™ 2

APLAYCORE canpany

Parts List

Components

an
=
<L

Panel Wire Mesh

=

Door Frame

Panel Upper Half

Panel Bracket Offset
Right and Left

Truss Exterior

Roof Panel

- Panel Upper

(o

Joist Half

< <

=

Upright

Hardware

Carriage Bolt 2
38 x1"

Carriage Bolt
3/8x3.5”

Carriage Bo
3/8 x5.5”

-
Carriage Bolt
172 x1” =

Carriage Bolt &£

1/2 x5.5”

3/8” Lock Washer

1/2” Lock Washer
Wedge Anchor

3/8x3” 3/8” Washer
3/8" Nut
Wedge Anchor ’ 12 Nut
5/8x7" ..'

Q
. 3/8” Penta Nut

©2022



WOLLO4 dVvI1D .€
AVM HOV3 D/0 .21 ® dvd3d v#
ISd 000°¢ V1S 39d3 AINIADIHL .6

Footing Details

9l
- 9.1
006 — : _
|
059 ‘H\H\H\H\H\H\H\M\W\\L\ \\\\\\\\\\\\\\\\\\\\ e | H
o |
Hld3a— Ty &
avis W W - 97
| I
| W &
B yanwoo
- “ HOV3
0L
WOLLOE dV3aT1D . ) & = =) @ o @
AVM HOV3I D/0 .81® dvd3d v#
IS4 000°€ IAVYD NO 9Vv1S.5°9
8E —
g-d NOILD3S

ElEEEEEREEEERICECEEEEEEEE IECECEEEEEEEE IEEECEEEEEEE | EEEEEEEEEEE
sl |s||eesesossssB|/oecEesE55E68(|SE88E5855068(|2e205555866|(eg888888888
El EEEEEREEEEE | CEEEEEEEEEE] | ECEEEEEEEEE] |EEEEEEEEEEE] | EEEEEEEEEEE]

See shelter assembly drawing for
exact upright locations and count

@ Do | Cycle Station™ 2

©2022



A PLAYCORE comvany

DeRO | Cycle Station™ 2 Installation

TOOLS NEEDED
Hammer Drill Forklift

Masonry Bits: 3/8”, 5/8” Wrenches: 9/16”, 3/4”,15/16”

Large Hammer Socket Wrench with Sockets: 9/16”, 3/4”, 15/16”
Level Drill

Chalk Line Nut Driver: 5/16”

Tape Measure Metal Shears (up to 24g steel)

Tall Ladders

Note door location and leave at least 13/4” of
5/8” diameter anchor threads above ground

@

Place uprights on concrete foundation
(see foundation design drawing).

min. 13/4”

Confirm all uprights are properly spaced
and square. All uprights should be at the
same elevation; use non-shrink grout
risers if needed. Longer anchors may
be needed to maintain minimum 4 5/8”
concrete embedment.

Using the upright base as a template, drill
(4) 5/8” diameter holes at each upright.
Install wedge anchors with a minimum
embedment of 4 5/8”.

Add nuts and washers and leave finger-
tight. See shelter assembly drawing for
specific upright placement locations.

Note: Top flange
direction is parallel
to roof slope

Grout risers for leveling

Lift trusses into place and fasten to uprights every 8’ with (4) 1/2” x 5 1/2” carriage
bolts, lock washers, and nuts at each upright. Leave finger-tight.

Note: For shelters with an even
number of uprights along the
length, the last trusses will be 4’
apart on-center.

e

Note: Carriage bolt
heads face down

Note: Remove and

Note: The first and last | id aht
trusses have wire mesh repiace a sige uprg

for forklift access while
attaching trusses.

©2022



APLAYCORE canpany

DeRO | Cycle Station™ 2 Installation

Attach the joists with (2) 1/2” x 5 1/2” carriage bolts, lock washers and nuts at both ends. Attach the joist to the middle
upright with (4) 1/2” x 11/2” carriage bolts, lock washers and nuts. Leave finger-tight.

Il

a
1l

— 0 e

B m———
. =

~ I < | S - ;v;,/; = 4
// \ = &4 | Al>

aly

Note: Carriage bolt \\ &
heads face out 4 <

aly

A

Note: For shelters with
trusses 4’ on-center, a

\ shorter joist will be used

Attach the purlins with (2) 1/2” x 5 1/2” carriage bolts, lock washers
and nuts at both ends. Leave finger-tight.
Note: For shelters with trusses

4’ on-center, a shorter purlin
—

\ will be used.

Y

Note: Carriage bolt
heads face out

L4
/ \»

7

7y

Il
1

T
I

11
[N/
Wil

1

7,

i
[/

T

T B S(EE
— |

)

Tighten all fasteners:
- Confirm spacing of upright bases and tighten @

wedge anchors. All uprights are 48” on-center.
Tighten bolts at upright tops and trusses.

Tighten bolts at purlins and trusses.

Tighten bolts at joist ends and trusses.

Tighten bolts at remaining upright tops and joists.

©2022




@ DeRo | Cycle Station™ 2




Panel Installation

Cycle Station™ 2

—=RO
APLAYCORE campary

& o

At every location a panel is to be installed, drill

a 3/8” dia. hole in the concrete through the
existing hole in the upright base. Attach the

panel brackets with a 3/8” x 3” wedge anchor.

At every location a panel is to be installed on the front or back of the shelter, remove the (2) outer carriage bolts at

the top of the uprights and add the offset panel brackets below the upright flanges with the same carriage bolts.

The offset brackets angle towards the shelter.

AZIR

..
N\

©2022



APLAYCORE canpany

DeRO | Cycle Station™ 2 Panel Installation

At every location a panel is to be installed on the sides of the shelter, remove the (4) inner carriage bolts at the top of the uprights
and add the panel brackets below the upright flanges with the same carriage bolts.

N

= ;b

@ Attach panels to each bracket with (2) 3/8” x 1”7 carriage bolts, washers and nuts. (1) Nut at each bracket will be a Penta nut for
security. There are (4) brackets per panel. Typically the panels adjacent to the door(s) will be solid for extra security. Consult the job-
specific plan for more detail.

Standard nut

HR T 1F E‘%—ﬁ Z
e I— - SIS | i
N L 2%%%% %i%%
Pema/ i%%%% %%%:ﬁ%
nut 3 CI
| — ] 6 OO
Standard nut Penta nut E%%IE%I[I E%%II
Standard nut :I - = I]I
== SR Linwid e

©2022




Panel Installation

@7 Do | Cycle Station™ 2

Front or back doors:

AL A LA VAL AL L WL | 10 W A2 5 S T =
77 ayay il 7a4Ril4d2e BEa i nnEn
B0 170001 W

L/ AT T VMU [0 1

L /T QAL T E 10

e =

TS 2 Oz €70 I (0 270 COOn b I O

, D00 0ZZ0 TR O OO0 T4 50 D O C—
{ ZZ2 (I3 ZZDO @@ I3z CImeo
\ @D CAD CZD T I OOy o m—o O —
{ IO COI0D 70D b T2 TZ—2 C0n @ a7 C

) O WEZZO Tz T Ibh OO 0 D G e

f CZOCOD CZD @@ Iz O o

| OO0 WO T (2 OO0 Ca O e O =

{ COCORCZ @ X I @

{ D CAOD O aEIn OO a0 G2 = =

| IO D (72D @ T D XD @& =2

| QDO W2 L D OOD 2 EEm 2 &
| D COn D M T 7O Tz e ==

f OO O T (2 (O8I s 2 E

\ “ O COn ZZDh D (AR eeEn e ==
\ “ DT O TID (2 (D == &&= & C
\ D COD (D R (=0 IR el 2 o
) m“’ OO OO I O Wz X2 E&Z=2 @ (

o ko

; ;

\\‘\ s,,

Y

— ‘
I

carriage
ts and

()
e
=}
[

o]

s below
ame
ckets

kkkkkk

prig
acke

ter.

uuuuu

ge bolts. The offset br.

led on the front or bac
er, remove the (2) oute
right flanges with the

at the top of the
he offset panel b

p

aaaaaaa

At every location a door is to be

angle towards the she

inst
shel
bolt
add
the
carri

A.

Below these panel brackets, remove the (4) inner 5/8” wedge anchor nuts and washers at the base of the uprights.

e Y s e S e Y axss | s} s R cvmes | s | s s
s I e B e [ s [ e I s— R o [ oo I co— s—
o Y s I e [ s s N s I s S sl csses B s s}

O OO o OcCcCo o
OO COoOC O OO C oo o
DO OO o O o c—3
[ Y s R s [ s s I s Y s N s B s B e
DO OcCcCOcCc OO OcCOoCcC—acC—9
[ I s R s Y s e s Y e Y s s s
O OO0 OcCc— oc—Ic—
— o oo e e /e o
e Y s R e N s I s s S s s s s |
s Y s S e Jf s J s N s R sons I s J s I as
o I s B e [ s I s [ cxses [ s Y s s I s |
s e s Y s s e S s Y e e s

e N B s [ s s s Y s Y s B s e |

the upright bases with the 5/8” wedge

Attach the bottom of the door frame to
anchor nuts and washers.

C.

©2022



PLAYCORE con

@7 DeRO | Cycle Station™ 2 Panel Installation

D.

Attach the top of the door frame to
each bracket with (2) 3/8” x 1" carriage
bolts, washers and nuts. (1) Nut at each
bracket will be a Penta nut for security.

==
=
=1
[==]

=
)

= &
==

===

=

Tt
ir I
\nl’:\ "l !
vUDUp S
HHE ik
o &
tnapdp !
{ by s
| E

:

9 ==

]
CHEID MO C
=~

==

j— Y ] [ — Y s— T — —

=

i
=
p— Y\
 —

= =
= 6

P —)
&)

E.
Attach the door and hinges to door
frame with supplied hardware.

MO T T T T T T T T TP P TP T T P T TP T T I TP I TP dT
I EEEEENEENENEENENNEENEEEENEEEENI
| IEEENNEEEEEENNNEENEENENNEENEEEENEEEEN]

AN EEENEEENNENENEENENNEENEEEEEERYEEN]

&7 = = =/ = = = ==
NSNS ENEENENEENENEENENEEEEEE]

©2022



Panel Installation

@7 Do | Cycle Station™ 2

Side doors:

A.

arriage bolts at the top of the

(4) inner ¢
arriage bolts.

move the

or is to be installed on the sides of the shelter, re

uprights and add the panel brackets below the upright flanges with the same ¢

ry location a do

At eve

of the uprights.

uts and washers at the base

er 5/8” wedge anchor n

(4)inn

Below these panel brackets, remove the

C.

Attach the bottom of the door frame to the

hor n

with the 5/8” wedge anc

upright bases

and washers.




@ DeRO | Cycle Station™ 2 Panel Installation

APLAYCORE com

D.
Attach the top of the door frame to each bracket with (2) 3/8” x 1" carriage bolts, washers and nuts. (1) nut at each
bracket will be a Penta nut for security.

‘,/ ¢

4_/” =

“ =/l

gﬂ 5 O =7 ﬂ%:’

0T T O ll By

i Z=allEi gy

=== i“ TPk iib=E

T - s f

— 72 || B

W2 | [

=SS Al

b v H =(Z]d |7|| EEI

N il |

U || 7 4 ! i iz

= o) M Filh i<l rislEe

| ; I sz 12y

U % U] Z 4i/|| “.I!.:

| | Heebe il

] @ g b
U U | [ﬂ ArE S/"i
J ﬂ U D U D W m m m
Uf g HU i W U] Uﬂﬂ Lﬂ
H il
1y [ g il
ﬂ n - mm n m n H‘ n H‘
E.

f nl
Hi]
e
ﬂuﬂ” ! ﬂﬂ ﬂﬂ"ﬂﬂﬂﬁ
g
il
Mﬂlhgﬂ!hli!iui
i
il
it
il
i
ﬂﬂﬂﬂ ﬂﬂgﬂuﬂuﬂﬂ
il >

©2022




